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log L*  CIELAB lightness
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100,0
log(L* u)=1,69, mu=0,43

L* u=50, Yu=18

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1a]
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log[(L* u/L* u)]=0, mu=0,43
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L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1b]
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Yu=18, dYu=0,83, (dY/Yu)=0,045

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1c]
dY = (3/116)·(Y/Yn)2/3 [2c]
dY = a·(Y/Yn)2/3 [3c]
dY = b·(Y/Yu)2/3 [4c]
a = 0,557 b = 3,826 [5c]
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Yu=18, dYu=0,83, (dY/Yu)=0,045

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1d]
dY = (3/116)·(Y/Yn)2/3 [2d]
dY = a·(Y/Yn)2/3 [3d]
dY = b·(Y/Yu)2/3 [4d]
a = 0,557 b = 3,826 [5d]
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Yu=18, dYu=0,83, (dY/Yu)=0,045

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1e]
dY/Y = (3/116)·Yn

1/3·Y−1/3 [2e]
dY/Y = c·Y−1/3 [3e]
dY/Y = d·(Y/Yu)−1/3 [4e]
c = 0,120 d = 0,824 [5e]
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0,568log[(dY/Y)u/(dY/Y)u]=0, mu=−0,33
Yu=18, dYu=0,83, (dY/Yu)=0,045

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1f]
dY/Y = (3/116)·(Y/Yn)2/3 [2f]
dY/Y = c·Y−1/3 [3f]
dY/Y = d·(Y/Yu)−1/3 [4f]
c = 0,120 d = 0,824 [5f]
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Yu=18, dYu=0,83, (Y/dYu)=22

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1g]
Y/dY = (3/116)·Yn

1/3Y2/3 [2g]
Y/dY = e·(Y/Yu)2/3 [3g]
Y/dY = f ·(Y/Yu)2/3 [4g]
e = 833,048 f = 5721,613 [5g]
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log[(Y/dY)u/(Y/dY)u]=0, mu=0,33
Yu=18, dYu=0,83, (Y/dYu)=22

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1h]
Y/dY = (3/116)·Yn

1/3Y2/3 [2h]
Y/dY = e·(Y/Yu)2/3 [3h]
Y/dY = f ·(Y/Yu)2/3 [4h]
e = 833,048 f = 5721,613 [5h]
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L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1a]
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logdYu=−0,08, mu=0,66

Yu=18, dYu=0,83, (dY/Yu)=0,045

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1c]
dY = (3/116)·(Y/Yn)2/3 [2c]
dY = a·(Y/Yn)2/3 [3c]
dY = b·(Y/Yu)2/3 [4c]
a = 0,557 b = 3,826 [5c]
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dY/Yu=0,04, mu=−0,33

Yu=18, dYu=0,83, (dY/Yu)=0,045

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1e]
dY/Y = (3/116)·Yn

1/3·Y−1/3 [2e]
dY/Y = c·Y−1/3 [3e]
dY/Y = d·(Y/Yu)−1/3 [4e]
c = 0,120 d = 0,824 [5e]
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log(Y/dY)u=1,33, mu=0,33
Yu=18, dYu=0,83, (Y/dYu)=22

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1g]
Y/dY = (3/116)·Yn

1/3Y2/3 [2g]
Y/dY = e·(Y/Yu)2/3 [3g]
Y/dY = f ·(Y/Yu)2/3 [4g]
e = 833,048 f = 5721,613 [5g]
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log[(L* u/L* u)]=0, mu=0,43

L* u=50, Yu=18

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1b]
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3,089

log[(dYu)/(dYu)]=0, mu=0,66

Yu=18, dYu=0,83, (dY/Yu)=0,045

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1d]
dY = (3/116)·(Y/Yn)2/3 [2d]
dY = a·(Y/Yn)2/3 [3d]
dY = b·(Y/Yu)2/3 [4d]
a = 0,557 b = 3,826 [5d]
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logY
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    0 1
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    2 100

log [(∆Y/Y) / (∆Y/Y)u] CIE  Y sensitivity
normalized to ∆Yu/YuSr /Sru=(∆Y/Y)/(∆Y/Y)u

2,640

0,568log[(dY/Y)u/(dY/Y)u]=0, mu=−0,33
Yu=18, dYu=0,83, (dY/Yu)=0,045

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1f]
dY/Y = (3/116)·(Y/Yn)2/3 [2f]
dY/Y = c·Y−1/3 [3f]
dY/Y = d·(Y/Yu)−1/3 [4f]
c = 0,120 d = 0,824 [5f]
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normalized to Yu/∆YuCr /Cru=(Y/∆Y)/(Y/∆Y)u

0,378

1,757
log[(Y/dY)u/(Y/dY)u]=0, mu=0,33
Yu=18, dYu=0,83, (Y/dYu)=22

L* = 116 (Y/Yn)1/3 − 16  (Yn=100, 1 ≤ Y ≤ 100) [1h]
Y/dY = (3/116)·Yn

1/3Y2/3 [2h]
Y/dY = e·(Y/Yu)2/3 [3h]
Y/dY = f ·(Y/Yu)2/3 [4h]
e = 833,048 f = 5721,613 [5h]
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TUB-test chart eer7; This is an example text for many applications
This is an example text "case1" for many applications; very short line not allowed

http://farbe.li.tu-berlin.de/eer7/eer7l0np.pdf /.ps; only vector graphic VG; start output
see separate images of this page: http://farbe.li.tu-berlin.de/eer7/eer7.htm

see sim
ilar files of the w

hole serie: 
http://farbe.li.tu-berlin.de/eers.htm
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